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X 2y +27 —8=0: (A (5 siuall Aalaa )
1 (Q) simall ddalaa (25 4
QB =—QA : slins () adaiill Loy A 5 133 B)
B(4;-3;0): 0 (x=3;y +1;2-2)=(1;-2;-2): slixa
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QB (1;-2;-2) 5 B(4;-3;0) : Cus LU QB 5 B adaiilly Cijra (Q) 5 simuall Nidic

CX =2y =2z +d =0 JREL S adlalad

d =—10: 43 x, +2y, +2z, +d =0: A B (Q): oS

x =2y =27 —10=0: & (Q) Halas )
senssssnsnsnssnsnannnnnnnnannnnnnannnnnnnnnnnnnnnnnnnnnnnnnns ;{6 Yupoill Jmaol| Jal|
D (P) ssiwdl g A(151;—1) Adasil) aay Sl ]

da ;(P)):|2xA +yA—2z14,+4|:|2+1+2+4|:2:3

Ji+1+4 o 3
+ 5 jpaall W _jualic 5 (1) de genall (i 1.2
G R x24+yi4z7=2x =2y 42z —6=0 : .l

(T =2X)+ (¥ =2y)+(z*+22)-6=0: S (1)
(x =1’ =1+(y =1 =14+(z +1)’-1-6=0
(x =D+ =D+ +1)’ =3y =
R =3L ki Caais cA(1;1;—1) WS 58 AT oY
S (D) 38 gl sas (P) (s sl O Gl 2.2
(P) e A 3kl Lis B ALl 85 )80 mhaws sas (P) (553l 03 d(A;(P))=3=R:\
1 (2:1;=2) S sl ¢ (P) s sisall oLl plall sa dgun 53 la () K (P) g5l e (52300 (AB) pdfisdll o
x =1+24
AeR¢y=1+1 }: 5 (AB) aiiwall Sl Jiall o Sy
z=—1-24
POSSE B (x 5y 5z) Akl pa i
Be(P) ¢ BE(AB): < Be(P)(1(AB)
Be(P) y BQA+1; A+1;-21-1) &
2ty 27, +4=0&
224+ D) +(A+1)-2(-2A-1)+4=0 =
.B(=1;0;1): &Y A=—1:4%591+9=0 &
s cilubae,l|
S X2+ y 4z 4 dx 42y —4z —27=0 : Cus M Ll de sana(y)
LR =6\ ki iy cQ(—2;—1;2) b S 55 S oo of a1
(P +4x)+ (¥ +2y)+(z2—42)=27=0: A (1)
(x +2) —4+(y +1’ =1+(z -2’ -4-27=0
(x +27+(y +1’ +(z =2’ =(6)’ =
R =6 ki Caais «Q(—2;-1;2) L S 35 A () 0
X =y 47 +2=0: allae SN (P) s sinall () ool pa sl Al 50 1.2
D (P) sl g2 Q(=2;—1;2) Adaiill any (il o

. X —y9+2z9+2| 3
ekl (P) 5(p): o) .d (Q:(P) _k == =3<6
( ) VI+1+1 3

%&_\.}



33 5k Cuaig A (—3;0;1) W S e 553 b (P) 5(3) ebalis of e .2
gladd) sa dgua 51 gl (A) O Gl (P) 6 siaal) aalay 5 () Adaiil) Jaiy (201 (A) aisall a1 Jiiail (e
: diie 5 (P) (s simsall 1 (13—1;1) (alal

x==2+1
AeR; y=—1-4}:(A)
=241

cdie g H(A=2;-A-1; A+2): 0588 cH (x ;y ;2) ua i

Xy—Yy+2,+2=0: 4% He(P)
A-2)-(A-D+(A+2)+2=0 &
cosSdcd=—1:4%531+3=0&

z=2-1=1; y=—14+1=0 ; x ==2-1=-3 : 1=—1

.r=JR2—42:,/(6)2—(1/§)2 =33y Lo sk Ciaiy A (=3;0;1) 5501 S 50 oY
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